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§1
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(©)

1.2
@

)

1.3
@
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1.4
@

)

1.5

-

ga

Fs

Fs

o ck
o ca
Ta

3.900 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (°)
19.0  (kN/m*)

0.577
0.0  (kN/m)
159.36  (KN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)3900x (B)2600
0.120

K>

10kN/m?

3.900

H=

B= 2.600

)
'Jz/'r

No.



§3
3.1
3.1.1
@
b I H e q: Qe
(kN) (kN) (m) Fs Fs (KN/m?)
223.50 61.17 0.370 3.61 2.11 159.36 12.56 | 0.K.
0.433 1.50 1.50
T
e = 0.370
LE'_\I
1 8
8 S
3 ]

B = 2.600

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (n) Fs Fs (kN/? )
198.70 61.17 0.424 3.19 1.87 151.20 1.65 | 0.K.
0.433 1.50 1.50
TTRIRIR
e = 0.424

151.20

L

1.65




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 80 220
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X (mm) 46.5 91.1
Y N ) 1.42 x 10° 57.57 x 10°
3 3
S ) 4.72 x 10 47.46 x 10
gc 0.95 6.66
(N/mm*) o ca 10.00 10.00
gs 10.2 141.3
(N/mm*) o sa 160 160
T 0.06 0.22
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 220 80
D19 - 7.5 D19 - 7.5
2
As () 2149 2149
X mm . .
91.1 46.5
y D) 57.57 x 10° 7.95 x 10°
3 3
S 0 15.05 x 10 29.36 x 10
gc 6.66 5.30
mm o ca . .
N/mm? 10.00 10.00
gs 141.3 57.4
(N/mm*) o sa 160 160
T 0.07 0.37
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

x y)

No.



4.2.1
@
iy
A X y A X Ay
(m) m @) | (m (m) (m) (m)
2.600x 3.900= 10.140 | 1.300 | 1.950 13.1820 19.7730
al- 0.140x 0.900= -0.126 | 0.190 | 3.450 -0.0239 -0.4347
b|-1/2x 0.140x 2.740= -0.192 | 0.213 | 2.087 -0.0409 -0.4007
c|- 1.840x 3.640= -6.698 | 1.180 | 2.080 -7.9036 | -13.9318
d| -1/2x 1.840x 0.140= -0.129 | 1.487 | 0.213 -0.1918 -0.0275
el - 0.500x 3.780= -1.890 | 2.350 | 2.010 -4.4415 -3.7989
1.105 0.5803 1.1794
a
Vo= XA L= 1.105 x 1.000 = 1.105 (n*)
V =Vo yc= 1.105 x 24.5= 27.07 (kN) b c
A X 0.5803
X s A 1.105 0.525 (m)
TA Yy 1.1794 C,
y S A 1.105 1.067 (m
)
iy
A X y A X Ay
(m) m (@) | (m (m) (m) (m)
2.480x 3.780= 9.374 | 1.360 | 2.010 12.7486 18.8417
a|-1/2x 0.140x 2.740= -0.192 | 0.167 | 1.173 -0.0321 -0.2252
b - 0.140x 0.140= -0.020 | 0.190 | 0.190 -0.0038 -0.0038
c| -1/2x 1.840x 0.140= -0.129 | 0.873 | 0.167 -0.1126 -0.0215
9.033 12.6001 18.5912
Vo= XA L= 9.033 x 1.000 = 9.033 (n*)
V =Vo ys= 9.033x 19.0= 171.63 (kN)
a
A X 12.6001 !
X = s A 9033 - 1.395 (m)
Ay 18.5912 o ¢
y S A 9.033 ~ 2% M

No.



4.2.2
V =g b L=10.0x 2.480 x 1.000 = 24.80 (KN)
x =B -2 = 2.600- 20 _ 1 360m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  3.900 (m)
a = 0.00 () gk&?m)
W = 105.95 (kN/m) [ 22.52] '
@ = 60.00C)
6 = 0.00(C) 50.01
@ = 30.00 ()
25.01
% 4 o z;o 70 90
w()
ba - 105.95 x sin(60.00 - 30.00)
~ cos (60.00 - 30.00 - 0.00 - 0.00)
= 61.17 (kN/m)
INNNInnnnnnnnnmnnnnm
w Pa W
64.00 60.362 89.49
63.00 60.720 93.50
60.00° 62.00 60.969 97.57
61.00 61.120 | 101.72
* 60.00 61.170 | 105.95
59.00 61.118 | 110.26
58.00 60.966 | 114.66
57.00 60.720 | 119.17
56.00 60.372| 123.78
V = 61.17 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 61.17 x cos( 0.00 - 0.00) x 1.000 =  61.17 (kN)
X = 2.600 (m)
y = 90 _ 500 )

3



No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.600 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.600 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.600 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 27.07 0.525 | 1.067 14.21

2 171.63 1.395 | 2.058 239.42

3 24.80 1.360 | 3.900 33.73

4 61.17 | 2.600 | 1.300 79.52

2 223.50 61.17 287.36 79.52
3
2
. —
v
Fs = >V p +c B L 223,50 x 0.577 + 0.0 x 2.600 x 1.000
- I H - 61.17
= 2.1 Fsa = 1.5
> Mr 287.36
Fs = s Mo 79 52 3.61 Fsa = 1.50
R
2 Mr - X Mo 287.36 - 79.52

d = sV ) 223.50 = 0.930 (m)

R

e = B -d= 2:600 0.930 = 0.370 (m)

2 2
le] = 0.370 (m) B = 0.433 (m)



3)

_zV 6 e

223.50 6 x

T B L

+
1 —

159.36 (kN/m?)
12.56 (kN/m?)

):

159.36

2.600 x 1.000 * (1%

NN

e = 0.370

]Q

B = 2.600

0.370

2.600

No.

13



5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 27.07 0.525 | 1.067 14.21
2 171.63 1.395| 2.058 239.42
3 61.17 | 2.600 | 1.300 79.52
> 198.70 61.17 253.63 79.52
2
E——3
1
U
Fs = >V g +c B L 198.70 x 0.577 + 0.0 x 2.600 x 1.000
- ZH - 61.17
= 1.87 Fsa = 1.5
> Mr 253.63
Fs = s Vo 79 52 3.19 Fsa = 1.50
R
2 Mr - Z Mo 253.63 - 79.52
d = sV ) 198.70 = 0.876 (m)
R
e = B -d= 2600 0.876 = 0.424 (m)
2 2
1
le] = 0.424 (m) 5 B = 0.433 (m)



No.

3)

¢ _ ZV . 6e 198.70 , 6x 0.4

e B L 5 )7 2600x 100 ¢ (L 2.600 )
151.20 (kN/m?)
1.65 (KN/m?)

1.65

151.20

[ B = 2.600

15
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No.

§6

6.1

0v9°¢




No.

6.2
6.2.1
1
a = 2.92(C) 6k§7m)
W= 11.41 (/M) [ 5.93] 10-9
w = 56.60 °)
5 = 20.00 °)
® = 30.00 C°)
5. Qs 3
%% 4 50 | 60 70 80 90 100
w(C)
ba = 11.41 x sin(56.60 - 30.00)
" cos (56.60 - 30.00 - 20.00 - 2.92)
= 5.12 (kN/m)
I nnnmnnnnm
/| 56.60°
w Pa W
61.00 5.015 9.64
60.00 5.048 10.02
59.00 5.080 10.42
58.00 5.104 10.83
57.00 5.116 11.24
* 56.60 5.119 11.41
56.00 5.119 11.66
55.00 5.109 12.08
54.00 5.093 12.52
53.00 5.072 12.98
52.00 5.032 13.43

17



No.
2) .
a
a = 2.92 (°) kN/m)
W = 113.61 (kN/m) [ 25.13] %Y
W = 56.90 (°)
5 = 20.00(0) 50.0{ ==
@ = 30.00 (C°)
25.04
0% 4o 50 16‘0 70 80 90 100
w(C)
Py = 113.61 x sin(56.90 - 30.00)
" cos (56.90 - 30.00 - 20.00 - 2.92)
= 51.53 (kN/m)
INNNInnnnnnnnnmnnnnm
w Pa W
61.00 50.860 97.77
56.90° 60.00 51.145 101.51
59.00 51.344 105.31
58.00 51.483 109.23
57.00 51.522 113.20
* 56.90 51.525 113.61
56.00 51.482 117.27
55.00 51.361 121.45
54.00 51.144 125.72
53.00 50.834 130.10
52.00 50.429 134.60
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) (D) (D) (K\) (m)
5.12 20.00 2.92 4.72 0.300
51.53 20.00 2.92 47.46 1.213

18



6.3
6.3.1

6.3.2

6.4
@

No.

H=4.72 (kN)
H = 4.72 x 0.300
= 1.42 (kN m)
H = 47.46 (kN)
H = 47.46 x 1.213
= 57.57 (KN m)
b = 1000 (mm) |ooooooo|E
d = 80 (mm)
As = D19 - 7.5 ! 1000 !
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2149 2 x 1000 x 80
= 1+ /14
1000 15 x 2149
= 46.5 (mm)
M= 1.42 (kN m)
S = 4.72 (kN)
_ 2 M _ 2 x 1.42 x 10°
b x d- Ag, 1000 x 46.5 x (80 - 42'5 )
= 0.95 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
B M B 1.42 x 10°
- X - 46.5
As d - 3 2149 x (80 - 3 )
= 10.2 (N/mm*) osa= 160 (N/mm*) 0.K.
_ s 4.72 x 10°
~ b d 1000 x 80
= 0.06 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
&
b = 1000 (mm) 0000000 b
d = 220 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2149 2 x 1000 x 220
= X -1 + 1+
1000 15 x 2149
= 91.1 (mm)
M= 57.57 (kN m)
S = 47.46 (kN)
2 M 2 x 57.57 x 10°
oc= x 91.1
b x d - 3 1000 x 91.1 x ( 220 - 3' )
=  6.66 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
os = M B 57.57 x 10°
- X - 91.1
As d - 3 2149 x (220 - 3 )
= 141.3 (N/mm*) osa= 160 (N/mm*) 0.K.
. - s 47.46 x 10°
b d 1000 x 220

0.22 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7 ( )

( )
7.1
]
2.340
¢H)
A X
(m m ) (m A x (m)
2.340x 0.260= 0.608 1.170 0.7114
a|-1/2x 1.840x 0.140= -0.129 1.227|  -0.1583
b - 0.500x 0.140= -0.070 2.000| -0.1463
0.409 0.4068
SA X 0.4068
X =5 a7 o.09 - 95

S =A yc L= 0.409 x 24.5x 1.000 = 10.02 (kN)

M =S x = 10.02 x 0.995 =  9.97 (kN m)

a—L_h]




&)

A X
(m m ) (m A x ()
2.340x 3.780= 8.845 1.170 10.3487
a| -1/2x 1.840x 0.140= -0.129 0.613 -0.0791
8.716 10.2696
A X 10.2696
X = 5 A = 8716 - 1.178 (m)

S =A ys L= 8716 x 19.0 x 1.000 = 165.60 (kN)

=
1]

S x = 165.60 x 1.178 = 195.08 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.340 x 1.000 = 23.40 (kN)

x
1]

1.170 (m)

M =S x= 23.40x 1.170= 27.38 (kN m)




©)
D

2)

Q:
Q2

Qs

159
12

g +

.36 (kN/m?)
.56 (kN/m?)

I,
(- ) B
144.68 (KN/m?)

= 12.56 + ( 159.36 -

2.340

12.56)% = 600

(@ +q) I L ( 144.68 + 12.56) x 2.340 x 1.000
2 - 2
183.97 (kN)
I 2 g +Q _ 2.340 2 x  12.56 + 144.68
3 o + O -3 12.56 + 144.68
0.842 (m)
S x = 183.97 x 0.842 = 154.90 (kN m)

151.20 (kN/n?)
1.65 (kN/m?)

I,
O + (- Qz) B

136.25 (KN/n?)

= 1.65+ ( 151.20 -

2.340

165 — 600

(@ +q) b L ( 136.25 + 1.65) x 2.340 x 1.000
2 - 2
161.34 (kN)
I 2 g +Q _ 2.340 2 x 1.65 + 136.25
3 o + O -3 1.65 + 136.25
0.789 (m)
S x = 161.34 x 0.789 = 127.30 (kN m)

No.

23



7.2

1)
No S M
(kN) (kN m)
1 10.02 9.97
2 165.60 195.08
3 -183.97 -154.90
4 23.40 27.38
15.05 77.53
Mo = 57.57 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 10.02 9.97
2 165.60 195.08
3 -161.34 -127.30
14.28 77.75
Mo = 57.57 (kN m) M
M = Mo

57.57 (KN m)




7.3

No.
&
b = 1000 (mm) 00000 0o | L
d = 220 (mm)
As = D19 - 7.5 1000
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 220
= 1+ /14
1000 15 x 2149
91.1 (mm)
M= 57.57 (kN m)
S=  15.05 (kN)
2 M B 2 x  57.57 x 10°
b x d- Ag, 1000 x 91.1 x ( 220 - 9;'1 )
6.66 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M B 57.57 x 10°
X - 91.1
As d - 3 2149 x (220 - 3 )
141.3 (N/mm?) osa= 160 (N/mm*) 0.K.
s 15.05 x 10°
b d = 1000 x 220

0.07 (N/mm*)

Ta = 0.45 (N/mm*) 0.K.

25



§8

8.1

€))

O]

A=b

A=b

w
1]

h = 0.500 x 0.120 =
A yc L= 0.060 x 24.5
S x = 1.47 x 0.250 =
h = 0.500 x 3.780 =
A ys L= 1.890 x 19.0
S x = 35.91 x 0.250 =

0.060 (m*)

x 1.000 =  1.47 (kN)
0.37 (kN m)

1.890 ()

x 1.000 = 35.91 (kN)

8.98 (kN m)

No.

26



3

©)
D

Q:

Qs

10.00 (kN/m*)

qg b

L =

0.250 (m)

S X

159
12

g +

10.00 x

5.00 x

.36 (kN/m?)
.56 (kN/m?)

(a: -

0

1.
0z) B
40.79 (KN/m?)

0.500 x 1.000 =  5.00 (kN)
250 = 1.25 (kN m)
0.500
= 12.56 + ( 150.36 - 12.56)x — .

(@ +q) b L ( 40.79 + 12.56) x 0.500 x 1.000
2 - 2
13.34 (kN)
I 2 g +q _ 0.500 2 x  12.56 + 40.79
3 o + O -3 12.56 + 40.79
0.206 (m)
S x = 13.34 x 0.206 = 2.75 (kN m)

No.

27



8.2

2)

D

2)

No.

o = 151.20 (kN/m?)
o = 1.65 (KN/m)
g =g + (- q) 78 = 1.65 + ( 151.20 - 1.65)x (2)288
= 30.41 (kN/m*)
S (@ +g) I L _ ( 30.41+ 1.65) x 0.500 x 1.000
2 - 2
= 8.02 (kN)
y I 2 @ +q _ 0.500 2 x 1.65 + 30.41
3 o + O T3 1.65 + 30.41
= 0.175 (m)
M = S x = 8.02x 0.175 = 1.40 (kN m)
No S M
(kN) (kN m)
1 1.47 0.37
2 35.91 8.98
3 -13.34 -2.75
4 5.00 1.25
b3 29.04 7.85
No S M
(kN) (kN m)
1 1.47 0.37
2 35.91 8.98
3 -8.02 -1.40
b3 29.36 7.95
S = 29.36 (kN)
Moo= 7.95 (kN m)

28



8.3

No.

[0 0 0 0 0 00 |:35£

b = 1000 (mm)
d = 80 (mm) ‘ 1000 ‘
As = D19 - 7.5 ‘ ‘
= 21.49 (cm’) = 2149 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2149 2 x 1000 x 80
= 1+ /14
1000 15 x 2149
46.5 (mm)
M= 7.95 (kN m)
S = 29.36 (kN)
2 M _ 2 x 7.95 x 10°
b x d- Ag, 1000 x 46.5 x (80 - 42'5 )
5.30 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 7.95 x 10°
X - 46.5
As d - 3 2149 x (80 - 3 )
57.4 (N/mm*) osa= 160 (N/mm*) 0.K.
S 29.36 x 10°
b d 1000 x 80
0.37 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



